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| * In Section — A. there are 50 objective type questions u—ni{:h.are compulsory, each carryﬁy 1 nar
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In Section - B, there are 25 short answer type questions (each carrying 2 marks), 8

. questions are to be answered. Apart from this, there are 8 Long Answer Type quesli

2 marks). Out of which any 4 questions to be answered.
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Which of (he following is 1ot 4 quadratic equation? ;
(A) (X +2)* = x(x 2 2 : '\-//
SR T) e ‘ (B) (x + 1> =2(x - 3)
(C) (x-2)(x+2)= :
: ) x+2)=5 . R (D) X2+ =2 b
M=z 5 =" 2

- ) - 3 - e — = 1
S BN ¥ et v TIRT 14 901 2, 3 § oP iRy SIS BT AT BT S &
i i HATATT ST B o i
: ! = || "o \
(A) 359 |+ 5L » /A (B) 1437 w73 4
& ( . = & o - k-
(C) 2874 1+ “ (D) §TH ¥ His 81 ]

From a solid cube of edge 14 cm, a sphere of largest volume is cut Approximate volume of sphere

1S -
(A) 359 em? (B) 1437 cnt?
(C) 2874 cm? (D) None of these

lF [1 1 0] F Page 2 of 16
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Lo y (n 60" , ¥
(2. -4) 3 B(4,-2) @ s arefy ey b man {Qeg or h'nms [N __
dinates of the mid-point of the line segment joining the points A2, -4 ...;;.-,-,-.-
(6, -6) R ¢ ) TR ) '
(3, -3) () (=3, 1)

il g @ arm g P oW wusl i pA wen pB i) ng ¥ aft PA =4 9, PB &

(B) 12 9
(0 4 U

d PB are two tangents drawn from an external point P to a circle, If PA = 4 cmthe
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! - How many cubes can be formed of side 2 cm from a cube of side 6 cm?
A) 56 o ‘
(©) 28 e
ar® (D) 27
14.  5in®0 + cos20 =
© 0 O '

i;

uﬁam‘qlaﬂmﬁgwqﬂﬂqlﬁﬁ4lZI%ﬁTWWHW&ﬁWWm_ s n

If the ratio of areas of two similar triangles is 64 : 121, then the ratio of their corresponding sides

(B) 8:12

(D) 11:8
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The 10® term of A.P: 54,51, 48,45, ... is-
e E‘” ol

(B) _

8. ﬁﬁ(zﬁ,—@ﬁm&r&ﬁﬁmﬁ?
(A) U g ®B) . fadm oe
(C) GRIERIE 15) B S >

In which quadrant does the point (23, —v2) lie?
(A) 1* quadrant (B) 2™ quadrant
(€C) 3 quadrant (D)
9. (an’60° & A & —
Value of tan’60° is-
1 AB)
1
= (D)
V3 3
I llowing quadratic polynomial whose sum of zeros is -3 aa& > uc

_,f&z_;:.’ “ @) X 3 _ ]

4" guadrant
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C1,3) 3 TR gl g

e between the points (-5, 7) and (-1, 3) is -

2V2 B 32
®© 42 M) 53 .
24. Q1 G @ Browmsi @1 arud 2:3 ® qU1 SN Gargdt @ ey 503 8 € o I
" BT ST F - §20n 27) :

Radii of two eylinders are in the ratio 2 : 3 and their heights are in the ratio 5 : 3, then their volumes .
are in the ratio -

(A) 27:20 (B) 2027

© 4:9 M 9:20 o, G i

/ 4 D

O 25. AR 6, 8 9 x TAT 13 DT WEA 10 B, & x BT A B "

¥
o

If the mean of 6, 8, 9, x and 13 is 10, then the value of x is -

A 12 @ 13

© 14 m 15
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e
“For an event E, which of the following is correct?

A) PE)>I (B)  P(E)<0

(& PE=] . D)  PE)=-1 M
34, i@ p(x)=x*-3x -4 , & p(x) T T LTI 2 ~ L

i L d
_ If p(x) = x* — 3x —4 , then one of the zeros of p(x) is - R

& r 2 !
: Jf 2 (B) 4 :
.1 w . ..
Y R o ) 3

U ¥ ol gel @i &) f el w il e €, weerd 8-

(A) S () @) s

© (A @) T w7 e
A line which intersects a circle at two distinct points is known as -

(A) Chord (B) Tangent

(€)  Both(A) and (B)
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X A0f) ST DIy rEdT 597 U9 15 wen A aiiv aad uel @1 AT 34 21

_ Determine the AP whose 5" term is 15 and the sum of its 3 and 8" terms is 34. ‘
- 4[RO B aE e x2- 3% -10 = 0 # wet R | 2)
: Using quadratic formula find the solutions of the equation x? - 3x -10 = 0. .
5. fig ol & 5—V3 ua sy e 2 o 2)
Prove that 5 — V3 is an irrational number.
6. x-3181 9% B9 fawg B S| B A @G (7, 6) TN (-3, 4) | wwewwe 2 (2)

Find a point on x-axis which is equidistant from the points (7, 6) and (-3, 4). .
7. TP Brgs ABC ORI S0 C 990 8 91 4ol CA3R CB W %9 g D siR E (2) 4
"‘ for &) forg @Y s —
AE?+ BD?= AB” + DE’
“In a AABC whose £C is right angled, two points D and E are on sides CA and CB respectively.
Prove that -
AE’ + BD? = AB? + DE?

8. A 2 3s5in0 + Zcost -
u Hﬁ: tand = : L 3sin@ - 2cosh SR l

3sin8 + 2cos8

%
4 3sinf — Zcos0

If tand = % _then find the value of

e Iﬁj F , Page 12 of 16
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ne _ :-('1.-!-51‘119)'2
-\ cos8

@ M (3, -5) R (7, 4) &1 AR gD D W

m, find the HCF of 570 and1425.
1 T 14 B R
hose diameter is 14 cm.

o .
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Class interval | 0-10 | 10-20 | 20-30

- Frequency h 8 12 6

ST BT 4R I B —
W ST | 08 | 816 | 1604 24-32

'. | axawar | 10 | 20 14 L'_I(s_ 18

F \ Find the mean of the following distribution —

32-40 | 40-48

] Classinterval [ 0-8 | 816 | 16-24 | 2432 | 3240
Frequency 1 10 20 14

16 18

24. ﬁ'ﬂmqmmﬁfﬁr'wmazoéaﬁwwulsﬁ?ﬁgrﬁam 2) #
If the product of two consecutive natural numbers is 20. then find the numbers.

. a}ﬁmﬁaﬁ}wmmwmmélfﬁq—ﬁ—mwwmﬂ%w@wmﬁl

“Two coins are tossed together. Find the probability of getting at least one head.
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g , 33 are Long Answer Type Questions. Each question cmlcw . L

w the graph of pair of equations 2 + 3y =17 and 3x - 2y = 6 and solve them.
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n; 'ﬁh}e&d of 10 km/hour in a canal 6 m wide and 1-5 m deep. How mu
- I

J

Tigate in 30 minutes. if 8 cm of standing water is needed for irrigation?

'14ﬁaaﬁmﬁa$@ﬂm%lsﬂﬁﬁﬁﬁ§§ﬁ@?ﬂ:

4 e B S S Bl

3 mis dug 14 m deep. The earth taken out of it has been spread evenly r‘

d _l - shape of a circular ring of width 4 m to from an embankment. Find the l ‘
L I
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